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e Please check that this question paper contains 32 questions.
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the answer-book during this period.

AT

ECONOMICS
feffa a7 : 3 772 S7ferHaq 37 : 100
Time allowed : 3 hours Maximum Marks : 100
58/2 1 P.T.O.

Get More Learning Materials Here : & m @& www.studentbro.in



QT 3397 :
G) gl @vel & @4t yeT 7T & |
(i) U9 I97 & [HERT 3% 349 qrgd e 1 §

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHRIHS F97 &, 5779 Jd% &7 1 375 8 |
59T Yo &1 I Uk TTaFT § 57 3957 2 |

(iv) F¥7 T&IT 6 - 10 37K 22 - 26 TGHIHF 97 &, 970 J% & 3 3% & |
Je9% T IR G 60 Jeg] & 37fer 787 5147 =T |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIETTT: 70 V5G] G 3 787 57 08T |

(vi) 397 &I 14-16 3K 30 - 32 FREIIHF I aIct J97 &, 1975 I39% &
6 7% & | I9% T I GII=d: 100 II5E @ 379 757 5471 F3T |

(vii) TRIfHA (*) J97 GoATERT 597 & |

(viii) IR GIETT TIT TeITcHS &7 FET TIT JqGHT FW 3 T3 HHT & 3a7la &
13T 57 e |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 - 5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

*1, 39 oAU Yo 1 AW Fa5¢ A1 foh <0 § FHieHl § Jhg AW F A § I

B Fehdl B |

Name the economic value achievable when attempts are made to
increase resources in the country.

2. I& I qfd I I AT TAEGRK Hd Hal AT 8 ?

When is supply of a good said to be perfectly price inelastic ?

3. SR qfd <! gieamsn G |
Define market supply.

4. =i <k gyt ST |

Define demand.

5. TOR @l % @ SeEw G |

Give two examples of fixed costs.

6. AJMBYH i g | A Hiuad § giadd o B I HIT W IHE i =TT

S |

A and B are complementary goods. Explain the effects of change in price

of A on demand for B.

7. Uh g% I Gfd ‘T’ o fohgl Qf RO hi ST HINT |

HAAAT

gfit a5k % 315 T faderd & fohmel g1 vl shi =amen S |

Explain any two causes of “decrease” in supply of a commodity.
OR

Explain any two causes of a rightward shift of supply curve.

8. 3T & Ycdeh T T HHT=d ANTG 1 Iehad shifu

It (3hTSAT)

1

2

3

4

3tEa afiedt @ ()

24

22

20

18

18

20
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10.

11.

12.

13.

14.

58/2

Calculate marginal cost at each level of output :

Output (units) 1 2 3 4 5 6
Average variable cost () | 24 | 22 | 20 | 18 | 18 | 20

ffafaa sAfehel @ qfd 1 hiEa A= 1 TiEhad HINT 3

hma gfd 318 (T) 8 | 10
T AUIY (A1) ()| 1000 | 1500

From the following data calculate price elasticity of supply :

Price per unit (3) 8 10

Total Revenue () | 1000 | 1500

‘P8 IcqTed HU Hl GUET R 3T Bld] g ? RSN hifaU | 3
Why does the problem of ‘how to produce’ arise ? Explain.
TeHTTERR <h! TR €T | TR i e faeivan samsy | 4

Define monopoly. State the main features of monopoly.

Teh &g i |7 sl hHd W= () 0-58 | T 40 Ufd $h1S hIHd T SHAT HiTT
300 3hTS 2 | form hima w gEehl | 20 fdasra seft 2 4
The price elasticity of demand of a good is (—) 0-5. At a price of ¥ 40 per

unit its demand is 300 units. At what price will its demand increase by
20 percent ?

T [T 3 9972 Tfdaey o GHieRn & o9 3Ta gAY | 4

Explain the distinction between the equations of budget line and budget
constraint.

SAREH T5hi <l ToRITATSTT hl SREAT HIT | 6
AT

YT TreeioT o G IUHIH Ha- hl Wdl ohl SAREAT HIT |

Explain the characteristics of indifference curves.

OR

Explain the conditions of consumer’s equilibrium using utility analysis.

4
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15.

A IMW
i)

fFrafaifaa ATehsl | IS 1 98 TR A hifeTe, T T Icq1eeh e | 7 |

% fore sror dfse | (dam e S i s fafy s e
6
IS (3H1E) | FUH (3TM) ()| T &AM ()
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62

From the following data find out the level of output at which the
producer is in equilibrium. Give reasons for your answer. (Use marginal
cost, marginal revenue approach)

Output (units) | Total Revenue () | Total Cost (3)
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62

16. o%] I SR AT & IHH! Fqod hiAd d 1S T W IR T g4 a1
gi@EHi i SreT i | [@Ttes 1 ST HiT | 6

Explain the changes that will take place in the market when market

price of a good is greater than its equilibrium price. Use diagram.

Fig:  FAECTET I9 FIT FIBFIT ThemAat & 077 397 @ 16 @ € WE |
Note : The following question is for the Blind Candidates only in lieu of

Q. No. 16.

g I SR HHT % ITh! Tge HAd ¥ 3w BN W TR F 7 9
gftard=t =ht Same HIfT | T drfetert 1 =T i | 6

Explain the changes that will take place in the market when market

price of a good is greater than its equilibrium price. Use a schedule.

58/2
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SECTION B
17. <R 3Icamg <l gt e | 1
Define domestic product.
18. TSEd 9 < Gl 3GTe ST | 1

Give two examples of revenue expenditure.

19. Rfa Tehdt Ffer srguma & o Afvm 8 2 1

What is meant by cash reserve ratio ?

20. 3AYIY H hl TNHTYT T | 1

Define an indirect tax.

21. HoIg™ W 7Y FaTsy | 1

Give the meaning of depreciation.

22. €W IR TR 1 qod HHq s=d YG 8 GIAT B | Ok R Yol
IR | 3

The value of marginal propensity to consume is double the value of
marginal propensity to save. Find the value of multiplier.

23. Uk AT § TATIIG I YA IcUTed § 3feres & | qfegaeen ¥ g
a1t Y afEdHi < s i | 3

In an economy planned spending is greater than planned output.
Explain all the changes that will take place in the economy.

24, IR R Hifgedh Tohet <2 3cd1e | e Fhifvm | 3

Distinguish between real and nominal gross domestic product.

25. TAH G4 @A o AR Tde 3R 6] @l FdeH | We T | 3

Distinguish between Balance of trade and Balance on current account of
the Balance of Payments account.

58/2 6
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26. TgI % TG hl h3 M hl AT HIWT | 3

HAAT

‘SRl o S o T H hrod Sk shl YR i AT FHINT |
Explain the ‘unit of account’ function of money.

OR
Explain the role of central bank as the ‘Bankers’ Bank’.

27. S o JdFGEY] H W T i “Oeh @ g0 Sy et war g 2
HHATRU | 4

How does the central bank control credit creation in the economy

through “Bank Rate” ? Explain.

28. Tr=faiRga stfhel @ “wre @ W e qod wgfg” 1 aiehad hifT : 4
(T arEl 5)
i  fosh 400
(i) i H qiEdq (=) 20
(iii)  HeATd] JTHM 200
(iv) Taa s 40
(v) Toia 50
(vi) HedasE 30
3T

FT Tl BT IcAIG AT o 3T HeAT0 1 TE g & ? 39 I oh
TmA | g R T |

58/2 7 P.T.O.
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30.
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From the following data calculate “Net value added at factor cost” :

(T in Lakhs)
) Sales 400
(i1))  Change in stock (=) 20
(iii) Intermediate consumption 200
(iv)  Net indirect taxes 40
(v)  Exports 50
(vi)  Depreciation 30

OR

Is gross domestic product a true index of economic welfare of the

people ? Give two reasons in support of your answer.

TR HH o TR TG i A i 7 ST B 8 | $Hh T R AT(4H

oo TH A hi 53T &1 Tehdl & ? THSAET | 4
Government takes measures to restrict autonomous imports of gold.
Explain the economic values desired to be achieved from this.
TY 3T 1 Iieha hITT 6

(¢ @st 7)
(i) 9 fovg @ feae =Te] sedmaw 30
) it srfam 3w = 400
(i) Trew < 36t fmfo 100
(iv) %2 | qiEd 50
(v) HIg™ 20
(vi) ETHRI AT~ I99FT = 200
(vi) Taa fta 40
(viii) et sTocae o 80
(ix) et =t faa sre 3 &1 PraE 10
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8
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frafafaa stieret & dafthes TIIST 3T 1 Ueheld shiToT : 6

(& #gl %)

i) TSt &3 1 R ara | fFaw

<t Icarg & it o1 800
(i)  UEE R T A 50
(iii) EhR ¥ =T FEATOT 70
(iv) Tosht st & i s=a 200
(v) Tm e 40
(vi) el grT fou T Seae w9 30
(vi)) HeIg™ 60
(viii) ToeEn & faa &R o 20
(ix) faee =t frae = s () 10

Calculate national income :

(< in Crores)

(1) Net current transfer from rest of the world 30
(i1)  Private final consumption expenditure 400
(iii) Net domestic capital formation 100
(iv)  Change in stock 50
(v)  Depreciation 20

(vi)  Government final consumption expenditure 200

(vii) Net exports 40
(viii) Net indirect taxes 80
(ix) Net factor income paid to abroad 10
OR
58/2 9 P.T.O.
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From the following data calculate personal disposable income :

) Net domestic product at factor cost
accruing to private sector

(i1) National Debt interest

(iii) Current transfers from government

(iv)  Savings of private corporate sector
(v)  Corporation tax

(vi)  Direct taxes paid by households
(vii) Depreciation

(viii) Net factor income from abroad

(ix) Net current transfers to abroad

(T in Crores)

800

50

70

200

40

30

60

20

(-) 10

31. (1) @y O Y iy §fT | 39 gee R | 2
() Uuh Ade¥aEen & oR # fov MU feAfaigq oAfeet @ 3T 3™ &

HITH T T IRehe I

(i) #H= UEF YgR = 0-75
(i) T STHM = 200
(iti) FremT = 6000

(a)  Define aggregate demand. What are its components ?

(b) From the following data about an economy,

equilibrium level of income :

(i)  Marginal propensity to consume

(i1) Autonomous consumption

(111)) Investment

58/2 10
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32. WAl S5 & ARG el shl =TT hIFT : 6
() FEYHT HT MEA
() A Sl AT DI HH HEAT

Explain the following objectives of government budget :

(a) Allocation of resources

(b)  Reduction in inequalities of income

58/2 11
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SENIOR SCHOOL CERTIFICATE EXAMINATION
JULY-2014

MARKING SCHEME — ECONOMICS (Outside)
(SET-1)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4.  For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5.  Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7.  Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

8. ;:} indicates value based questions.

General Note : In case of numerical question no mark is to be given if only
the final answer is given.

. Distribution
B2 Expected Answer / Value Points of Marks
SECTION - A
1 | Economic growth. 1
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4 | It is the quantity of a good that a consumer is willing to purchase at a given 1
price, during a given period of time.
5 Rent of factory building, salary of permanent workers etc. Yo x 2
(any two relevant examples)
6 When price of A rises (falls) its demand will fall (rise) and the demand of 3
complementary good B will also fall (rise) because both the goods must be
used together.
7 (i) Imposition of unit tax raises cost. Price remaining unchanged, profits fall. 1%
This leads to ‘decrease’ in supply.
(ii) Rise in prices of inputs raises cost. Price remaining unchanged, profits fall. 1%
This leads to ‘decrease’ in supply.
(Any other relevant cause)
OR
(i) Use of improved technology reduces cost. Price remaining unchanged, 1%
2
profits rise. This leads to shift of supply curve to the right.
(ii) Fall in prices of inputs reduces cost. Price remaining unchanged, profits 1%
rise. This leads to shift of supply curve to the right.
(Any other relevant cause)
8 Output AVC TVC MC
1 24 24 24
2 22 44 20
3 20 60 16 % X6
4 18 72 12
5 18 90 18
6 20 120 30
(No marks if only the final answer is given)
g | Price. TR Supply
8 1000 125 1
10 1500 150
Es ? X e 1
QAP
__8 B %
125 2
= .8 %
(No marks if only the final answer is given)
10 | It arises due to availability of alternative techniques of production. Broadly, the
choice is between capital-intensive techniques and labour-intensive 3
techniques. The problem is that which one to employ.
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12 | g, =§ X i_g 1
—05= 2 x2 1%
300 AP
AP = — % X %
AP =-16 %
New Price AP + P =(-16)+40 =24 1
(No marks if only the final answer is given)

13 | Let the two goods consumed by the consumer be X and Y. Let m be income
The equation of budget line is :

Px.X+Py.Y=m 1
Which shows that the whole collection of the combinations of the two goods

on the budget line costs the consumer exactly his income. 1
The equation of budget constraint is :

X+ PF.Y <m !
which says that the money spent on the two goods must be equal to or less 1
than the income.

14 | (1) It is downward sloping : 1
Because if the consumer gets more of one good, the consumer must give up 1
some quantity of the other good, to remain on the same level of utility.

(2) It is convex towards the origin : 1
Because MRS falls as consumer moves along the curve downwards. It is 1
because of the law of diminishing marginal utility.
(3) IC to the right denotes higher utility:
Because IC to the right has higher quantity of the two goods. By assumption
more goods means more utility.

OR
Conditions : (Assuming that the consumer consume only two goods X and Y)
(1) Ratio of marginal utility to price in case of each good must be the same. 1
OR= = MP—[;y
Because. Suppose Mp—lf > MP—? the consumer will buy more of X by diverting 3
expenditure from Y. As a result , MUx will fall and MUy will rise till MP—L:‘ = MP—?
(2) Marginal utility falls as more of a good is consumed
because unless it happens the consumer will not reach equilibrium.
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15 | Output TR TC MR MC
1 12 14 12 14
2 24 26 12 12
3 36 36 12 10 2
4 48 48 12 12
5 60 62 12 14
The equilibrium is at 4 units of output. 2
Reasons : (1) At this output MC= MR. 1
(2) MC > MR after equilibrium output. 1
16
. S
\ﬁ 3/
pl
?f‘\ (X o8
E
r
2
D
A
0 Q
Given equilibrium price OP, suppose market price is OP4, the changes that will
take place are :
- There is excess supply equal to AB leading to competition among
sellers. 4
- This leads to falls in market price as a result of which demand starts
rising and supply starts falling .
- The changes stop when D= S at E and equilibrium price is reached at OP.
For the blind Candidates
Schedule
Px Dx Sx
1 10 2
2 8 4 2
3 6 6
N Y/ Q
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SECTION -B

17 | Value of final goods and services produced within the domestic (economic) 1
territory of a country.

18 | Salaries of Government employees, Interest payment etc. Y% x2

19 | The fraction of deposits of commercial banks that they have to keep with

central bank is Cash Reserve Ratio. 1
20 | It is a tax whose incidence and impact fall on different persons. 1
21 | Fall in the value of a capital good due to normal wear and tear and foreseen 1

obsolescence, during its use in production.
22 | Ratio of MPCand MPSis 2 :1

So MPCis 2and MPS is = 3

3 3
Multiplier = _ =30r=——= iz =3
MPS 1-MPC 12

(No marks if only the final answer is given)

23 When planned spending > planned output there will depletion of stocks with

the producers below the desired level. To bring it back to the desired level, the 3
producers will produce more till it becomes equal to planned spending.

Nominal GDP is the GDP valued at current year prices thus including changes in
both prices and volume of production.

24 1%

Real GDP is valued at constant prices thus indicating change in volume of
production only. 1%

25 | Difference between the value of exports of goods and imports of goods is
balance of trade. Whereas the difference between receipts and payments on
account of exports of goods and imports of goods, services and net transfer
receipts, give us the balance on current account.

26 Money as a unit of account means a standard unit for quoting prices or
borrowing and lending activities etc. This function makes possible keeping of
business accounts thus facilitating trade. It has also led to the emergence of
the banking system.

OR

Commercial banks are required to keep a certain minimum percentage of
deposits as cash reserve with the central bank. Central bank uses these 3

emmmimiimm dm emmmmd mmm mimmmim s mmmieatimmimm mamdmn L a b ol Lt [ I Py P [ I
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Bank rate is the rate of interest at which the central bank lends money to the

27 commercial banks. Suppose the central bank raises bank rate, it makes
borrowings by the commercial banks costly. This forces the commercial banks 4
to raise their lending rates. It makes borrowings by the people costly. People
borrow less and credit creation is adversely affected.

(Opposite happens when bank rate is reduced)
28 NVAgc = (i) + (ii) — (iii) — (iv) — (vi) 2
=400 + (—20) — 200 — 40 — 30 1%
= Rs. 110 lakh Y

(No marks if only the final answer is given)
OR

GDP is not necessarily the true index of economic welfare of the people. The
main reasons are :

(1) Many non-monetary exchanges left out of GDP do contribute to welfare like
mother cooking food, etc but are not included.

(2) GDP does not take into account changes in inequalities in the distribution of

income.
(3) GDP does not take into account externalities, positive or negative. 2x2
(4) Any other (Any Two)
29 | Restricting autonomous imports of gold reduces foreign exchange demand.
This in turn reduces foreign exchange payments. Since autonomous payments 4
decline, BOP deficit decline. This decline reduces pressure of deficit and is thus
the economic value realised.
30 N.1. = (ii) + (vi) + (iii) + (vii) — (ix) — (viii) 3
=400+ 200+ 100 +40—-10—-80 2
= Rs.650 crore 1
OR
P.D.1.= (i) + (viii) + (iii) + (ii) — (ix) — (iv) — (v) — (vi) 3
2

=800+ 20+ 70+ 50— (—10) — 200 — 40 — 30
= Rs.680 Crore 1

(No marks if only the final answer is given)
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31 (a) Aggregate demand refers to the total value of final goods and services that
all sectors of the economy taken together are planning to buy at a given
level of income during a period of time
Components are —
2
(i) Private consumption expenditure
(ii) Investment expenditure
(iii) Government expenditure
(iv) Net exports
(b)Y =C+1 1
Y = C+MPC(Y) +1 1
= 200 +.75(Y) + 6000 1
.25Y = 6200 } 1
Y = 24800
(No marks if only the final answer is given)
32 (a) Government can influence allocation of resources through budget in many
ways. It can encourage or discourage production of selected goods through
taxes and subsidies, For discouraging, it can impose taxes. For encouraging 3
it can give subsidies. Government can also directly participate in
production of goods and services.
(b) Government can influence inequalities of income through taxes and public
expenditure. It can impose taxes on the rich reducing their disposable
income. The amount so collected can be spent on the poor for raising their 3
standard of living.
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